= re)
Q M= 52 7|48 H(K[08-452)

SHR|AMA (82 7|7F 2024 08E 232 06A| ~ 08 242 06A|)

Je) oo

AL |2t
[ 20244 08<! 232 06A| EHE | 202 AT

- M3 N2 BIALE 718 £ ERS, AL X2 -

> M= ST T e
O HTHO6A]), 2IH, L MFS FEET 1 2 S22 HMZE 52 7+20. AE2 X FetE53 S5km, 1 2 52¢0| 10km 0|

SYLICE

O Ls@3Y)2 7=

Foi|M oLt =

SENELLT|Ye| 7FgR2(of S0 217,

=3 Oz 2

1oLt @7 Bt

0 |7t LHEIH'L 12l 32 M2 HAL 7S FERASLICL

O L{g(4Y)e SEEL 172l 7FERt2[of S0 H=Z30| N2 AL 71 FEHZCL, YIS 25 SHIj ALEY (Tt
QAELICE
oM

- QB EHRE): 10mm L 2|

- AEZEH(RE): 5mm 0|2t

- ALYS L L): 10mm LY 2|

X (ZFE BHR2E) 25 X0 2F2 EH2E7I50% 0|42 oL, 3 A[E2 230 F1stA|Z| HHEfLICH
X (ZUNE) 51t LHY M29| ZE0|A X|TH|Z2E 31~3520] ZHO0| O AHEIL|CE OFQ| RHARIO M= TRSID A| S 22
HSotL, 71 BEH2 2F 2~5A|0 S%H S 7Ha& AFM[SHA|Z| HEEfL|CH
> IS 2 HE V[AEE
O HIEY 2 HIEY 2 7tsd 3.

X372 o|F= LSA0)| BHEA| =QISHA|Z| HHEfL|CH
O Q3 2= 28 ol H|7t LH2| e, H7F W2|&= S+ A"Z0] 4km OS2 FfOHX| 1 fLE0 & 1,000t O|5t= =HOFA| 74
SLCE
O ZE3Y) 2= 2 oHiif H|7t 25 W2|Z 20, 11IA|RE 17A7HX| B#2< 15kt Z|Ci=7+E < 25ktQ| ChA 2ot HiZHo| S
SLCE
O (Fer3d) LY A0l AI"Z0] 4000m O[St2 ZfOFK| 1, FENEE 1,300ftLi Q|2 RS LT
O (ZA3Y) 2= B34 18~20kt LY Q| Z[CHE=7HE< 30~35kt LY 2|2 ot HIZH D}, SE5Xt0] oot SHE0| Ol &L F2ISHA|
7| HFZHLCE

O elsd s




TAF EE (06A| 7|F)

Mzt 234(3) 2425

¢ | 06|07 08| 09|10 11 12|13 214 15|16 | 17 |18 19 | 20 21 2 |23 00 01 02 03 04 05 O6

olx | -RA | -RA  -RA

=Raaaaaanag

CeE S GO

O gaArg
X S, i+ 85 &5 Eﬁm—"‘—, APE, BFEE)2 7|80 2= &5 7148 FElH(https//amokmagokn) S EM (T
L O =M BE 1H|A)01|A1 FOISEA| 7| BEEFLIEL




